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Lesson 7-6: Simple Rational Exponents

Vocabulary

Fractional Exponents: Mbgﬁﬁ_lﬂﬂ)_ﬂt\)@ |
Pactors_ *0t by division !

Example: 16%l
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Tricky situations...

- If the fraction has an Odd denominator, the base can be ne.% ahveé
/‘ **The answer will be n((?’ﬂﬁ v,
. If the fraction has an_€VE€Y) denominator, the base can NOT be ne% ahvey
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Not all numqg\éi% split evenly...

« If a number does NOT split evenly into the correct number of factors, use a calculator

ogeta_dLlimal  _ approximation .

- When you type these into a calculator, put the €X|D0ﬂ{’,ﬂ'\" , Which is a

fraction, in Parf ¥ |jhgg.,ﬁ£2 .

+ If the base is n@%ah\/(’/ , put the base into PC\Y(HTN?&S also!

+ Always round to ‘W\Y(e decimal places!

10. 10/ = 1., 52/1= 12, 1256 =
2194 1799 yl
(ervor)

Solving equations with Rational (“Fraction”) Exponentis...

- To get rid of a fractional exponent, raise to the power of the FeC \DVD( Q\

13,  xf=7 14, xS =40
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L.esson 7-7 & 7-8: Complex Rational Exponents

Practice
ALL fractions CA-,E\! be split... ~ 50 _lg -y
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Lesson 7-4: Compound Interest

Vocabulary

Compound Interest: __{MHCYYSE 1S bﬁﬂﬁ combived 1O
ovey & ovty & ovty A40IN.

Compound Interest Formula: A _ P ( \ +—L n-‘t
- n

p=_vinipal A= Tota) Amount n= #F of Fiws
(INiNIAY IWWESTRENY ) M Allovny (oyipowngLdl Per yeay

= _IMOAST VM 1= Ping Lin yeare)
(decimal version)

Practice

Y N
052 Y Hmes pev year
1. 3000)is invested acompounded . Find the total amount in the
&@:};

account afte 20
A=7%000 (| + =5 &

A =|%5918.29 "
v G () & _Limes
2. 1,248 )s invested at@'compounded emi-annuajly. Find the total amount
in the account after 54 months,;

4.5 years (1) g
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3. An_account currently has @40 in it. The account was opene@gaﬁ ago at
2.3%'compounded monthly. How much money was invested inifially?
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Lesson 7-1: Power Functions

Vocabulary POWEY

exponent

Power Function: —

EVEN Power Functions: ex: y= xq

+ Graph is “U-shaped” - similar to PD\YGb o\a
+ Domain = L\” Yfﬂ\ :‘:\;’5
» Range = PDS\'FIV(. ((’6\\ /s

* Symmetric over the Y “AALS  (with a vertical line).

ower Functions: ex\: ‘1=x5

base

L1)

- Graphis_ SQV1661¢  shaped
U Jud

- pomain=__ Q1 _veal ¥ 'S

+ Range = (l\\ ”G\ :ﬂ: “5

R otah o -symmetry around the origin.

Practice

1.

Luisa is taking a quiz. Unfortunately, she didn’t study or pay attention in class, so
she plans to simply guess on each of the five questions. Suppose the probability
of getting a question right is p. What is the probability that she will score 100%?
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If this were a true/false quiz, what probablllty would she have of getting 100%7?
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If this were a multiple choice quiz with|5 choices for each question, what
probability would she have of getting 100%7? Vs
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2. The point (-QK,EA) is on the graph of a power function.

Is this function even or odd? Why?

Evin - the negative ¥ quvned posifive

Does the graph have a minimum or maximum? If so, what is it?

Mintmumwy — a+r 2ev0

Write an equation for the funct|on vt be {vcnl

Guess & check (z (ﬁf

—~ (D) -

3. The point (-4, -1024) is on the graph of a power function.

Is this function even or odd? Why?

0Ad - the NaOYive ¥ Srayed Ywgative

Does the graph have a minimum or maximum? If so, what is it?

NO - exttndS  fovever in both divecHors .

Write an equation for the function.

Guess & Uheckr et be 0dd

(1) = -0

(M)’ = -1024




